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              Nayak’s Tutorials  
 Year: 204-25                                            Practice Paper – 3                     Marks – 40 

Std: X SSC                                               Geography            Duration – 2 Hours 

    

   Note – 

   1) All questions are compulsory.  

  2) Draw neat diagrams/graphs wherever necessary.  

  3) Answers should be written in blue or black ink.  

  4) Use pencil. Don’t use color pencils. 

 

Q.1. Fill in the blanks            (04) 

1. The earlier settlements in Brazil were formed by the settlers from __________mainly in the coastal 

areas. (North America / Europe / Asia / Australia) 
 

2. Cattle, sheep and goats are also reared in the Savannah grasslands in the ___________. 

(North / East / South / West) 
 

3. The Lakshadweep Islands of Arabian Sea are ______________. 

 (made from the part separated from the mainland  / coral islands / volcanic islands / continental 

islands) 
 

4. _____________ State has the least urbanization in Brazil. (Para / Amapa / Espirito Santo / Parana) 

 

Q.2. Match the following –           (04) 

1. Trans-Amazonian a. Tourist Place Highway 

2. Road Transport b. Railway Station in India 

3. Rio de Janeiro c. Golden Quadrilateral 

4. Manmad d. Major Highways 

  e. 40° W. Meridian 

 

Q.3. State whether right or wrong with reasons – (Any 4)      (04) 

1. Tourism is an invisible trade. 

2. Brazil has a coastline along the Pacific Ocean. 

3. India faces tropical cyclones frequently. 

4. In Brazil, people prefer living in the south east as compared to the north east. 

5. For more than three centuries, Brazil was under British rule. 
 

Q. 4.A. Locate the following on the outline map of India and also prepare an index - (Any 4) (04) 

1. Andaman and Nicobar Islands 

2. River Sabarmati 

3. Himalayan Forests 

4. Any one union territory 

5. Any one state with low levels of urbanisation 

6. Any one state that produce bulk of salt in the country 
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Q. 4.B. Answer the following on the basis of the map given (Any 4)  - (04) 

  

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

a) Which means of transport are seen on the map? 

b) Which highway can be seen prominently?  

c) What could be the reason of development of railways in the South-East?  

d) Which mode of transport is not very well developed in Brazil? 

e) In which part of Brazil do you see a lesser development of transport network?  

f) Name any one airport in the eastern part of Brazil. 
 

Q.5. Give Reasons (Any 2) -          (06)  

1. The north-eastern part of Brazilian Highlands receives very less rainfall. 

2. There are dissimilarities between the eastern and western coasts of India. 

3. We rely on the sea route for international trade. 

4. There is mixed economy in Brazil and India. 
 

Q.6.A. Draw a Bar graph from the following table. Examine the graph carefully and answer the 

following questions –  (06) 
 

Life Expectancy in India and Brazil 

 

 

 

 
 

a) What is Life expectancy? 

b) What was the life expectancy of people in India in the year 1990? 

 1960  1970  1980 1990 2000 2010 

INDIA 41 48 54 58 63 67 

BRAZIL 54 59 62 65 70 78 
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c) Is there a relationship between increase in life expectancy and growth of population? If yes, how? 

OR 

 

Q.6.B. Read the graph and answer the following –  

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

a) What was the percentage of urbanisation in 1961? (1) 

b) In which decade was urbanisation the highest? (1) 

c) In which decade was the growth of urbanisation lowest? (1) 

d) What does the X-axis of the graph show? (1) 

e) What does the Y-axis of the graph show?  

f) Between which decades is the difference in percentage of urban population highest? 

 

Q.7. Answer in detail – (Any 2)          (08) 

1. Giving examples, correlate climate and population distribution. 

2. Correlate wildlife and natural vegetation in India and Brazil. 

3. Prepare a questionnaire for a field visit to a factory. 

4. Differentiate between Water transport in the Amazon and the Ganga river. 
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